U326. Find

i an + 2
n:Oa%+an+1

where ag > 1 and 3a,+1 = a?l + 2 for all integers n > 1.

Proposed by Arkady Alt, San Jose, CA, USA

Solution by G. C. Greubel, Newport News, VA , USA

Consider the series
i ap + 2
2
= +a, +1

where 3a,41 = a:fL + 2. The reduction of the series is as follows.

where 3a,.1 = a3 + 2 was used. Now,

N (e = 1)(af +an —2)
a Z 3(an — 1)(ant1 — 1)

. Gn+1 — Gn
> (an = 1)(ant1 — 1)

n=0

_i( 1 1 )
=0 an, — 1 Qp1 — 1 ’

The collapse of this telescopic series leads to the desired result, namely,

i an+2 1
nzoa%+an+1_ao—1'

Also solved by Ji Eun Kim, Tabor Academy, MA, USA; Michael Tang, Edina High School, MN, USA;
Kyoung A Lee, The Hotchkiss School, Lakeville, C'T, USA; AN-anduud Problem Solving Group, Ulaanbaatar,
Mongolia; Yong Xi Wang,FEast China Institute Of Technology, China; Brian Bradie, Christopher Newport
University, Newport News, VA, USA; Adnan Ali, Student in A.E.C.5-4, Mumbai, India; Cailan Li; Haroun
Meghaichi, University of Science and Technology Houari Boumediene, Algiers, Algeria; Moubinool Omarjee
Lycée Henri 1V, Paris, France; Paolo Perfetti, Universitd degli studi di Tor Vergata Roma, Roma, Italy;
Prithwigit De, HBCSE, Mumbai, India; Albert Stadler, Herrliberg, Switzerland; Alessandro Ventullo, Milan,
Ttaly.

MATHEMATICAL REFLECTIONS 1 (2015) 17



